Math 346 Quiz 3
February 22, 2018

Name: ANSWGIZS

Instructions: No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.
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True or false: Suppose AB is defined. If A has a row of zeros, then AB has a row of zeros. ] ;ue,
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Would your answer to problem 1 change if it were B that had the row of zeros? \/e.S

()
o= ¥ Q4 2. A
Llet A = [a;;] _ .Definetr(4d) = Ayt Azet---+n  QE i
Jnxn

=

(a) Given A = [aij] . and B = [bl-]-] ,» Conjecture a formula for tr(4A + B) = "'( (A) + +( (g)
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(b) Prove your formula works:

Pf: fe(n rB) =+ [Aij+ loij}“"aé (aiit+bic) = E_,%' + 2 b = £e(A) +4(R). 7
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x+2y—z =1 111
6. Solve the system x +2z = 3 by: (a) Stating the augmented matrix for the system: 1z
2x—4y+z = 0 ] o 1|3
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(b) Find the reduced row-echelon form of the augmented matrix:
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(c) Write down the solution as a column vector: (y) . 2_'
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Bonus:
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(@) Justify your answer to problem 3A=(l$"-'? ) @.._;(? ') = A@ (q 4 /. o
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of e<cos, but AR does not. (Thaxe o2 Wy such axamples).

(b) Recall:if A = [aij]nxm' then AT = [aﬂ]mxn' Suppose B = [bij]nxm' Prove that (A + B)T = AT + BT.

PF (A+8)'= [agrlis] = [ogit byi |= [l # Dbyl = AT+ BT 7



